a 5270 i
123 | 2394 2630 [ 123
905 830 900 900 830 905
m < FUR—KIL N
o S
p\ 7 3 7 al
g 110 120
SN ] " ] |
S 7 - o =2 %
[@))
S s R Sl 5 o G
E = m |
5 | o LT -~ Mo
R = 7 —N TS
¥a,b,ad D TI,
M P (a=45,b=55,c=75)
o &
E R Fi
¢ 70R)—T Ty ER &)
IS —(H IR &)
120 Toh—TL—bhL
o ERAILNHRSR)
S£o7MAT | M10X160 (B
L /
\ - -H
VGl %J“” var /)L 2 8
% bioa3oo | ~ 2 Mmoo
= S [@N}
2 | D10
pto L1V U
| _D10@300
D13/ 300

& X

HIES

<HER> S=1/40
~—fRE - L EHE ~

NXP—120HD

XESHMFIHIGOERFICEDOE-EBEICLTTSL,
MBI |KROERIT TS,




